
ASSEMBLY INSTRUCTION

INccf022_GL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

801-173



PACKING DETALS:TOTAL 2 BOXES

BOX-1/2 BOX-2/2

PARTS QTY

1

1

1

1

2

3

4

5

6

7

8

9

11

12

13

15

16

17

18

19

20

21

22

14

10

1

1

1

1

2

2

PARTS QTY

1

1

1

1

1

2

1

3

2

1

A-Q

3

3

3

23

24

25

26

2

PARTS QTY

1

1

2



14 113 1

12 111 1

10 29 1

7 1

6 15 1

4 13 1

2 11 1

8 1



26 125 2

24 323 3

21 3

20 319 2

18 217 2

16 115 1

22 3



Q 3P 3O 3

M3*12

M4*16

N 3M 78L 5

K 5J 4I 4

3HG 3

F 2

M5*14

E 20

M4*35

D 43C 9

B 26
+1(spare)

A 26

+1(spare)+1(spare)

+2(spare)

+1(spare)

+1(spare)

+1(spare)

+2(spare)



A 2

A 2

M 18

N 3

O 3

C 1

D 1

02

03

01

1

AA

M
M

M

M
M

M

M
M

M

O

O

O2

A A

M
M

M

M
M

M

M
M

M

N

N

N

3

4
3

D

C



B 2

B 2 05

06

04

2

3

4

BB

1
B B

5



C 6

D 6

E 20

F 2

G 3

08

09

07

6

C

CC

C

C

C

D

D

D

DD

D

E
EE

E

G

E
EE

E

F

6

E

E

E

E
F

F

G

G

E
G

11



A 4

B 4

C 2

D 8

A 6

11

12

10

12

13

14

7

8

9

10

10

A
A

AA

B
B

B
B

14

12

13

8

9

7

D
D

D

D

C

C

16A

A

A

A

A

A



D 16

H 3

M 18

14

15

13

D
D

D
D

D D

D
D

D
D DD

16

17

17

D D

D D

15

19

19

16

18

18

H

M
M

M

M

16

15

H

H

H



B 6 16
15

16

B

B

B

B

B

B

16

16

17

18



19

20

21

M
M

M

P

20

M
M

MQ

21

20

21
22

D

D

D

D

D 12

x3

x3

x3

M 18

P 3

Q 3

A 12

B 12

K 3

L 3

23

K

L
24

A
A

A

A

B

B

B

B



22

23

I 4

J 4

K 2

L 2

M 8

M 16

I

I

I

26

J

JK

L
L

M
M

M M

25

J

J
K

MM

M M

25

M

M

J

J

25

25

M J




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

